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QUESTION 1
Which statement about protocol options is true?

A. Protocol options allows administrators a streamlined method to instruct FortiGate to block all sessions corresponding
to disabled protocols.

B. Protocol options allows administrators the ability to configure the Any setting for all enabled protocols which provides
the most efficient use of system resources.

C. Protocol options allow administrators to configure a maximum number of sessions for each configured protocol.

D. Protocol options allows administrators to configure which Layer 4 port numbers map to upper-layer protocols, such
as HTTP, SMTP, FTP, and so on.

Correct Answer: D

QUESTION 2

Which two tasks are automated using the Install Wizard on FortiManager? (Choose two.)

A. Preview pending configuration changes for managed devices.

B. Add devices to FortiManager.

C. Import policy packages from managed devices.

D. Install configuration changes to managed devices.

E. Import interface mappings from managed devices.

Correct Answer: AD
https://help.fortinet.com/fmgr/50hlp/56/5-62/FortiManager_Admin_Guide/1000_Device%20Manager/1200_install_to%20
devices/0400 _Install%20wizard-device%20settings.htm There are 4 main wizards:Add Device: is used to add devices
to central management and import their configurations. Install: is used to install configuration changes from Device
Manager or Policies and Objects to themanaged devices. It allows you to preview the changes and, if the administrator
doesn\\'t agree with the changes, cancel and modify them. Import policy: is used to import interface mapping, policy
database, and objects associated with the managed devices into a policy package under the Policy and Object tab. It
runs with the Add Device wizard by default and may be run at any time from the managed device list. Re-install policy: is

used to perform a quick install of the policy package. It doesn\\'t give the ability to preview the changes that will be
installed to the managed device.

QUESTION 3

Refer to the exhibit, which shows the output of a diagnose command What can you conclude from the RTT value?
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A. Its value represents the time it takes to receive a response after a rating request is sent to a particular server.

B. Its value is incremented with each packet lost.
C. It determines which FortiGuard server is used for license validation.
D. Its initial value is statically set to 10.

Correct Answer: A

QUESTION 4

Refer to the exhibit, which contains partial outputs from two routing debug commands.

~
"
§ W a A

).0.0.0/

FortiGate # get router info routing-table al

S* 0.0.0.0/0 [16/0] via 100.64.1.254, portl

Why is the port2 default route not in the second command\\'s output?

A. It has a higher priority value than the default route using port1.
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B. It is disabled in the FortiGate configuration.
C. It has a lower priority value than the default route using portl.
D. It has a higher distance than the default route using port1.

Correct Answer: D

QUESTION 5

Examine the output of the “get router info ospf interface\\' command shown in the exhibit; then answer the question
below.

# get router info ospf interface portd
portd is up, line protocol is up

Internet Address 172.20.121.236/24, Area 0.0.0.0, MTUO 1500

Process ID 0, Router ID 0.0.0.4, Network Type BROADCAST, Cost: 1

Transmit Delay is 1 sec, State DROther, Priority 1

Designated Router (ID) 172.20.140.2, Interface Address 172.20.121.2
Backup Designated Router (ID) 0.0.0.1, Interface Address
172.20.121.239
Timer interwvals configured, Helle 10.000, Dead 40, Wait 40, Retransmit
S

Hello due in 00:00:05

Neighbor Count is 4, Adjacent neighbor count is 2

Crypt Seguence Number is 411

Hello received 10&, sent 27, DD received 7 sent 9

LS-Req received 2 sent 2, LS-Upd received 7 sent 5

4

L5-Ack racelved gsent 3, Discarded 1

Which statements are true regarding the above output? (Choose two.)

A. The port4 interface is connected to the OSPF backbone area.

B. The local FortiGate has been elected as the OSPF backup designated router.
C. There are at least 5 OSPF routers connected to the port4 network.

D. Two OSPF routers are down in the port4 network.

Correct Answer: AC

on BROADCAST network there are 4 neighbors, among which 1*DR +1*BDR. So our FG has 4 neighbors, but create
adjacency only with 2 (with DR and BDR). 2 neighbors DRother (not down).
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